	 
	For an independent-measures experiment comparing two treatment conditions with a sample of n = 10 in each treatment, the F-ratio would have df equal to __________. 
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	A researcher reports an F-ratio with df = 3, 36 for an independent-measures experiment. How many treatment conditions were compared in this experiment? 
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	A research report concludes that there are significant differences among treatments, with "F(2,27) = 8.62, p < .01." How many treatment conditions were compared in this study? 
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	A research study compares three treatments with n = 5 in each treatment. If the SS values for the three treatments are 25, 20, and 15, then the analysis of variance would produce SSwithin equal to __________. 
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	In the F-ratio for a repeated-measures ANOVA, variability due to individual differences __________. 
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	A repeated-measures study uses a sample of n = 8 participants to evaluate the mean dif-ferences among three treatment conditions. In the analysis of variance for this study, what is the value for dftotal? 
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	A repeated-measures analysis of variance with a sample of n = 8 participants, produces dfwithin treatments = 14. What is the value for dferror for this analysis? 
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	Which of the following are sources of variability that contribute to SSbetween treatments in a repeated ANOVA? 
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	The results of a repeated-measures ANOVA are reported as follows, F(3, 27) = 1.12, p > .05. How many subjects participated in the study? 
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	A two-factor study with two levels of factor A and three levels of factor B uses a separate sample of n = 5 participants in each treatment condition. How many participants are needed for the entire study? 
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	The results of a two-factor analysis of variance produce df = 2, 24 for the F-ratio for fac-tor A. Based on this information, how many levels of factor A were compared in the study? 
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